E Ko [ 1SO Secondary Standard J( ISO First Class J| ISO Second Class ) é% E Eﬂn-l-

Pyranometer

B DM Preparation to Install iE Al Measurement & Maintenance

T4V IRI—bMHAF

Quick Start Guide

1 WEFHD Required Tools

_|§ﬁ:£

HAIEL VY Measurement Range

TROENDBENAETESL YV EON-LBEDEBRAITRIRLTIESL),
Set measurement range on the measuring instrument according to the below output range.

\—~

0

MS-802 / ms-8oz2F
MS-402 / ms-a02F

MS-802/802F MS-402/402F MS-602
~ 10

MS-410 MS-411
~ 20

HAOEEEE  output Range [mV]

LyF RELVF 2)(F (10mm) FAY— (BE.EHRE) H#A
M5'4 IO / M5'4’ I Wrench Allen Key Spanner Multimeter Compass
(MS-410, MS-411 : 5Smm) (Voltage, Resistance)
MS-602 (M5-602 : amm) BE8E DRA Calculate Solar Irradiance
COEIIHSBEOBFEHESROVLEEHINESITTNET, 2 REBEIGFR - RIFDFESR Location & Setup Conditions = I BsiEE Solar Iradiance (Wim?]
Thank you for purchasing EKO products. ?*77 I wm2 = e E: B5iEHHEAEE  Pyranometer Output Voltage [1V]
onnector S[aV/W~ 2] o _
2 S: RETEH Sensitivity [uV/W-m2]

COAA RIIBEICHKE. CERVEREIODOHIETT,
FHISIEIRERBAE E S A VS IELKEFELIESL),
This sheet provides the basic instructions for setup.
See the for further detailed
information about this product.

o

50

FBHM A>T F VX Periodic Maintenance

HASAR=L: REMNNHET LIV
ETFIY-BD BN EREMO T

included manual

Glass Dome: Keep the glass dome clean by
wiping with soft cloth and alcohol. Make sure

{REEICDWT Product Warranty
AEROEEBRIPES JMRIDREICOSEL T

® —BEBUC ABESAZ2EEY® LERS
Y BEEWREMALITRVGAERATIZEL,

Select a location with free horizon.

® HUEWERL. 7T I ARIYEZBHAN
5ENHFOEICEITEY,

Place the pyranometer with the Cable Connector
facing the nearest pole.

v
x5
Connector

S\, Fe BARDEERRL TSN

LIRA: LRHOBNER (FEns
HEoEER) Lich RI]LTLIZE N

there are no scratches on the glass dome.

Desiccant: Replace the desiccant if the color is
changed from blue to reddish.

ARG =T )ViREE: Ok A%E  Connector & Cable Condition: Check and

RERITHEASNTVWBMRIEZE 2B, FoldEE @ XBEIE N Fixing Holes on Installation Base ATWENA A —T LA EATLZ  make sure the connector is connected securely
o) . A N WHEREZEL TR S and the cable is not damaged.
FEHEETHBLEDETIEE, B8 N B8
For warranty terms and conditions, please contact Foig Hole ; Fiipg Hole KEERR: KHESRERESIL TK¥EA'T  Spirit Level: Check if the bubble is within the
L . AR/ NTVWS, FBEELTES) center ring. Readjust if necessary.

EKO Instruments or your distributor for further details. zz / K}{ Mms-802 | 80 mm MS-410 80 mm :'éFixing Ho\e(,‘)‘

. . . &S Ms-402 MS-411  60mm OO
The warranty is only subjected to the instrument \ - (\S_ﬁ MS-802F | o0 MS-602 ;
which is installed and used in correct manner. EKO will &7 us.acer o BH#RIE Recalibration BUE—EOBREESBOLEY, BREDT KEIZRLMMETHELET,
not be reliable for any loss or damage caused from Z Z It is recommended to recalibrate once every 2 years. Please contact EKO for

improper installation or use. ® J7UNREETIVCIE.BRAMETY, Power is needed for ventilation unit. recalibration service.

Installation

2

T

FIEUHICMMBABRECHERIZS N, TR FIIHWIBNH2HEIL. BEICTEE TS,
First, please check the package contents. If any part is missing or damaged, please contact EKO.

I—FRZEALET KEZSDOEETT BFZRIL BT HNEEERRBLET BRzLET

md

6

Remove the sun screen or cover. Level the pyranometer. BEEULET Checking the Output Voltage 7 Wiring
%gﬁgg _Fasten t_he pyranometer on WA —T D+ —ETF 2T~ 138 . "
M5-410 | MS-802F installation base with attached . OEEMEBICOUNTHANE T BEERT FHOH—REANE
MS-411 | MS-402F | M5-602 bolts. USHE TN BN ERRBL TS, Black Wire/Blue Terminal _ Connect to Measuring
HAHT—7b : e L _ EUfF1F-BR4AL  Attaching / Removing After connecting the pyranometer 7 Instrument
Output Cable o o o KAEEERBAD KEICBELS i and output cable, use voltmeter to /9
[CATREFRY (22 EHELEY ; '
° —k check for output. s
BRI . 0O Level the pyranometer by adjusting Sjun Screen ~ i Va\lﬁ/ﬁ\i/E%Rmiii inal
Power Cable for Ventilator - — the leveling screws. s BBLEOHSE Approximate Output Values ite Wire/Red Termina
_ = 2 BHENSH ADEVFE:
KTBBAS (22) £ =T )L \/ o 2y s o BRI+ BB B AEBER &R0, TR0
ALTERLRNTESL, Output Cable :y%;;r’:lt[\o; : Overcast Partly Cloudy Clear ﬁ@mfaaé(n\ﬁg%ami e L(\o I &R,
= . R Do not remove the leveling VR E [W/m?2
777777 BE&fEt  Pyranometer BRI screws when installation. Solar Irradiance <300 > 300 >700 When there is no Output:
ZA{K  Sensor Unit O O O Power Cable BEETHE A [mV] <2.0 >2.0 >50 Measure the impedance of the output cable (+/-) and
Tyv— Output Voltage (<4.0% (>4.0% >7.0% chslck if the impedance is in the proper range (see below
J—F  Sun Screen / Cover ©) - Washers ktese *Ms-a10 fable).
L . =)L <ot Lovel .gs .
J7YI1=wk Ventilation Unit — O — BIEMLE pirit Level 33’57311:& SpeCIflcatlonS
J—FBEHERY KEREZ= (C22) Ltk RREEH (uviw-m™] RERIEI () SMETIE [mm] 58 ERVREEE (]
= . Cover Fixing Screws W Model Sensitivity Impedance Dimension (W x D x H) Weight Operating Temperature
sMpRsE * 9
BREAE Manual (only in Japan)* O o o Spirit Level MS-802, MS-402 W7 ~7 490 ~ 510 160 x 160 x 107 1.4 kg —40 ~ +80
= . - N MS-802F MS-402F 7 =7 490 ~ 510 200 x 200 x 182 3.0 kg —40 ~ +80
fREEE  Warrant ly inJ O O ©) TEREXY (&
== ylonly in Japar) itfdfﬁz;ff =) o Ms-602 w7 7 20 ~ 140 78 x 78 x 66 230 g —40 ~ +80
MESE  Calibration Certificate O e) e) . B i Ms-410 7~ 14~ 20 ~ 140 160 x 160 x 110 830 g —40 ~ 480
IunstaIEtion B Fixing Holes ®8mm rnstalr:tion Base MS-411 17 U 20 ~ 140 160 x 160 x 110 8309 —40 ~ 80
) VAVIRT— AL (£E) O O O / (M6 Bolts) f f/ BE TR ENERETIL. BEETOSAILICEEE SN TU\ET, The Sensitivity and Impedance values are stated on product label.
3 Quick Start Guide
N = <
; e—  oww- ; EKO EKO Zarssmsk N =+t
= Washers _
EUfIRIVE Bolts (M6) x2 O O O EIE7 & BEE 78 ) ) .
Fixing Hole Pitch Fyk Fixing Hole Pitch Head Office www.eko.co.jp Zlﬁf www.eko.co.jp
Jw<+— Washers (M6) x4 Nuts 1-21-8 Hatagaya, Shibuya-ku, Tokyo 151-0072 Japan T151-0072 RREEAXE,E1-21-8
I I (M6) O O O 160mm 80mm TEL +81(3)3469-6713 FAX +81(3)3469-6719 TEL 03-3469-6714  FAX 03-3469-6719
22 Fvk  Nuts (M6) x2 e) e) e) a._ 7)[,&“ D ﬁ FF 3— 7—-R Em D FJ- 1FF 3— EKO INSTRUMENTS Europe B.V.  www.eko-eu.com HRII—BR-b>5—
cs

BRIEPEETORRFQLOICMBMEREL THECLESENIDLET,

It is recommended to keep the original packaging in case pyranometer is shipped back for recalibration or repair.

*Please see the manual for further information about this product. Manual can be downloaded from EKO website.

4

wire for power

Insert output cable to the connector plug securely.

REPRERHPH LD, &
TG EFEBUTEZN, O7UHETILOH)
When installing ventilation unit, connect the grounding

3]

"EBRT—TILD

o

screen.
cable to prevent electrical shocks.

Attach the sun screen or cover.
AT - A LD 97— FEREt ARICEL T ZE N

Always turn clockwise when attaching and removing the sun

Lulofsstraat 55, Unit 32, 2521 AL Den Haag, The Netherlands
TEL +31 (0)70 3050117 FAX +31 (0)70 3840607

EKO INSTRUMENTS USA INC. www.eko-usa.com

95 South Market Street, Suite 300 San Jose, CA 95113 USA
TEL +1 408-977-7751 FAX +1 408-977-7741

T151-0072 RREEARESE1-21-8
TEL 03-3469-5908  FAX 03-3469-5897

© EKO INSTRUMENTS co., LTD.

(1509001 (150001 (13017923 C € QSCPYR-17-09.v050
-2011-2015-2017




	ページ 1

